HD#ks& « ¥— B

B BH 5 P4 X
YLy )RR, —2—HDRE., OB -8F | No.9 g 150 3 X £& 250 2V
YLy IR, —2—HDRHE, VbFE-E | 10 g 180 X {£& 270 2
YLy IAERNE, —2—HDIRE, VEAFE-EE | No11 i@ 200 =) x &£ 300 =Y
YLy IAIRNE, —2—HDIRE, VEMAFE-E | No12 i@ 230 3 x & 340 3
YLy YRR, —2—HDIRE. VEFE- & | No13 i@ 260 =) x £ 380 3
YLy IR, —2—HDIRHE, VbFE-HE | 14 g 280 X {E 410 3
YLy IRIRE, —2—HDIRE. VEAFE- & | 15 i@ 300 3 x £ 450 3
#ULysZENO-0.015 No.9 g 150 SYX £& 2503
#ULy)AEO-0.015 No.10 | 180 I x {x 270 31
$LyIREO-0.015 No.1 1 & 200 3 X £& 300 =V
HyIREO-0.015 No.12 g 230 3 X &£& 340 2V
$LyIREO-0.015 No.13 @ 260 X)X £& 380 2
YUY IRT - No. 1 & 260 )X £ 380 2
YILYIRT - No.2 & 300 U X K& 45031
YUy IRT - No.3 g 400 X K& 550 31
#oLyhAR- b NN B-IL (22> BO-ILEE) No. 11 g 200 =X £& 300 3V
#byyRE-b NN B-L (2> BO-LEE) No.12 & 230 SUX K& 340 21
NN B-L (22> BR- L&) No.13 g 260 I x £ 380 31
HD & —h(FF2Z/L)-0.01 500 £ & 500(250)3) X £x 500 =
HD ¥ —h(+F23JL)-0.01 600 & g 600(300)3)x £ 600 31
HD ¥ —h(FF23)L)-0.01 700 £ & 700(350)3! x {£x 700 =1)
HD & —h(FFa T - TIL—-Lwk)-0.01 800 £ 8 800(400)3! x &£ 800 1)
HD &—k(FFaFIIL-TIL—-Lwk)-0.01 900 A& g 900(450)3)x £ 900 31
HD &—h(FFa T - TIL—-Lwk)-0.01 1000 £/ | @ 1000(500) =X £& 1000 =)
HD & —N(FFaIL-TIL—-LwyR)-0.015 1200 /8 | 1@ 1200(600)3x £& 1200 =)




HD L USHK

e B HAX
NN/ Sy (2,8 - 35587) S 8 250 31J(150+100) X £ 350 =
NNASZIER=RES: 5 2)) S fiE 300 21J(180+120) x £& 380 =
NN/ Sy (2,8 - 35587) M 8 350 1J(220+120) X £& 430 3
NN/ Sy (2,8 - 35587) L 8 400 31J(260+140) X £& 480 3
NN/ Sy (2,8 - 35587) LL 8 450 3'J(300+150) X £& 530 3
NNASZIER=RES: 5 2)) LX fiE 500 21J(350+150) x {£&= 570 =
NNI/$ys IURAM (ALE-$E8H) SS 8 250 31J(150+100) X £& 350 31)
NNI/$ys IR ARG (FLE-$5E80) S 8 300 3J(180+120) x £& 380 31)
NN/ IR ARG (LA - $5E8H) M @ 350 21J(220+120) x K= 430 =1
NNTa/$yy IUR A (A E-¥3E8H) L i@ 400 2J(260+140) x £ 480 31
NNTI/XyY TUR A (ELE - $#58H) LL g 450 21J(300+150) x £ 530 =
NNy TUR A (ELE - $#358H) LX fiE 500 21J(350+150) x £ 570 =
2ANYY TOysfE No.25 @ 250 2J(150+100) x && 350 3
RANYY TOvIfE, Toy No.30 & 300 =1J(200+100) X £& 380 =)
FANYT TR, T Oy No.35 8 350 31J(220+130) X £& 430 3
FANYY Tovift, TnysE No.40 8 400 31J(270+130) X £& 490 3
RANYY TOYIfE, Toy No.45 g 450 21J(300+150) x £& 540 =
RANYY TR No.50 8 500 3'J(350+150) X £& 600 =)
RANYY vk No.55 g 550 21J(350+200) x £& 650 =
FENYT TwR No.65 2 650 31J(450+200) X £& 750 =
RANYY TwR No.75 8 750 'J(550+200) X £ 850 3




